
Matematiikan propedeuttinen kurssi (MATYO1O)
KAAVOJA

Logaritmit: (a>O, a1, b>O, b41,x>O, y>O,pER)

1og(xy) = 1og x + logo y

logo (E) = 1og x — logo y

1og(x’) =plogax

1°gb x
logo x =

log a
In x = logo x

lgx = log10x

Derivointi:
D(k) = 0 kaikilla k R

D(xr) = rxrl kaikilla r E IR.
D(er) = eX

D(1nxD=1 kunx0

D(sinx) = cosx

D(cosx) = —sinx

D(f(x) + g(x)) = D(f(x)) + D(g(x))

D(k. f(x)) = k D(f(x)) kaikilla k e IR.
D(f(x) g(x)) = f’(x)g(x) + g’(x)f(x)

— f’(x)g(x) — g’(x)f(x)
\g(x)) (g(x))2

D( (g(f(x)))) = f’(x) g’(f(x))

Integrointi:

f kdx=kx+C

f xTdx=xr+1+C

fxi dx=lnxI+C

f eX dx = ex +

sin x dx = — cos x + C

f cos x dx = sin x +

f f(x)+g(x) dx=ff(x) dx+fg(x)dx

f k f(x) dx = k ff(x) dx kaikilla k e R

f f’(x) g’(f(x)) dx = g(f(x)) +

/ f(x) dx = F(b) - F(a)

Suoran yhtälöit:
Ax + By + C =0

y = kx + b

y — Yo = k(x — xo)

Ympyrän yhtälöitä:
x2 + y2 + Ax + By + C 0

(x — xo)2 + (y
— yo)2 = r2


